
12/06/2022 08:29 Kohler Engines

https://kohler.partsmartweb.com/scripts/EmpartISAPI.dll?MF 1/2

CV14-1454 - Fuel System 8-27-80 (TP-2351)



12/06/2022 08:29 Kohler Engines

https://kohler.partsmartweb.com/scripts/EmpartISAPI.dll?MF 2/2

  Ref # Part # Description Qty Context Note
1 M-641060-S NUT, FLG M6X1.0 2  
2 X-22-11-S WASHER, INT TOOTH LOCK 1/4" 1  
3 M-629116-S STUD,M6X1.0X116 2  
4 12 853 94-S KIT, CARB W/GASKETS - USE 42 853 03-S 1 (includes 5,6)
5 12 041 02-S GASKET, AIR CLEANER BASE 1  
6 12 041 01-S GASKET, CARBURETOR 1  
7 12 265 08-S DEFLECTOR, HEAT 1  
8 25 237 14-S CLAMP, HOSE (KM)-USE 25 237 31-S 2  
9 25 154 09-S CLIP, CABLE 1  
10 25 353 10-S LINE, FLEXIBLE FUEL 9.0 1  
11 25 050 21-S FILTR,FUEL 75 MICRON (GRAVTY FEED) 1  

M-561010-S M-561010-S SCREW, THRD FRM M5X0.8X10 1 NOT ILLUSTRATED
1275592-S 12 755 92-S KIT, HIGH ALTITUDE (+10,000 FT) 1 NOT ILLUSTRATED
1275702-S 12 757 02-S KIT, REPAIR FLOAT (WALBRO) 1 NOT ILLUSTRATED
1275703-S 12 757 03-S KIT, REPAIR CARB (PUMP FEED) (WALBRO) 1 NOT ILLUSTRATED
1275733-S 12 757 33-S KIT, REPAIR SOLENOID 1 NOT ILLUSTRATED
12755110-S 12 755 110-S KIT, REPAIR CHOKE (WALBRO) 1 NOT ILLUSTRATED
1245403-S 12 454 03-S TIE, CABLE 1 NOT ILLUSTRATED
1251824-S 12 518 24-S LEAD 1 NOT ILLUSTRATED
2545403-S 25 454 03-S TIE, WIRE 1 NOT ILLUSTRATED


